=10 =3

B, £ [lcanashbs!
079999115

-]







2005 akllidl 5aagdl 5ol Jobis whise

QUESTION NUMBER ONE
For questions (1 - 50 ), choose the correct answer from A, B, C or D to complete
each of the following sentences.

1) Ten-year-old Adeeb Al-Blooshi caught Sheikh Hamdan’s attention with his
invention - a prosthetic limb for his father. Adeeb got the idea for a special
kind of prosthetic leg while he was at the beach with his family. His father,
who wears an prosthetic leg, could not swim in the sea as he could not risk
getting his leg wet.

-Adeeb got his inspiration for inventing a waterproof prosthetic leg from:

A) Sheikh Hamdan's attention.

B) The interest that Sheikh Hamdan has taken .

C) The tour that Sheikh Hamdan is sponsering.

D) His father who wears a prosthetic leg.

2) Adeeb has invented several other devices, including a tiny cleaning robot
and a heart monitor, which is attached to a car seat belt. In the case of an
emergency, rescue services and the driver’s family will be automatically
connected with the driver through this special checking device. He has also
invented a fireproof helmet. This special equipment, which has a built-in
camera system, will help rescue workers in emergencies.

-The device that will save workers in emergency cases is:

A) a heart monitor B) a cleaning robot

C) a prosthetic leg D) a fireproof helmet

3) In 2010 CE, neuroscientists confirmed that it was possible to communicate
with some patients in a coma, by using a special brain scanner called an MRI.
They suggested that, in the future, more meaningful dialogues with patients in a
coma would be possible.

-The underlined word “They” in the text refers to:

A) patients B) neuroscientists

C) dialogues D) brain scanner




4) In order to cope with the increase in demand for treatment, the KHCC has
begun an expansion programme. Building started in 2011 CE.

-The underlined phrasal verb “cope with” means:

A) understand B) deal quickly with

C) recognise D) deal successfully with

5) The scanner, used on a man who has been in a coma for more than twelve years,
proves that he has a conscious, thinking mind - a fact that had previously been
disputed by many. Doctors plan to use similar brain-scanning techniques in the future
to find out whether patients are in pain, or what they would like to be done in order to
improve their quality of life.

- Experts proved that patients in a coma.........c...c.u...

A) would like to improve their quality of life.

B) plan to use similar brain-scanning techniques in the future.
C) have a conscious, thinking mind.
D) have previously been disputed by many.

6) A new cancer drug is being trialled in Plymouth, UK, which doctors hope will
extend the lives of cancer patients and reduce their symptoms overnight. It is
taken as a single pill every morning, and so far patients have shown none of the
usual side effects such as the sickness and hair loss that are experienced when
undergoing other forms of cancer treatment. The patients were interviewed a
year after starting the treatment and are fit and well, saying that they are
definitely going to continue the trial.

- One of the advantages of the new cancer drug over the traditional cancer
medications is:
A) It is taken as a single pill every morning.

B) It is being trialled in Plymouth, UK.
C) The patients were interviewed a year after starting the treatment.
D) The patients are definitely going to continue the trial.




7) The patients have every reason to believe the new drug is going to work. Doctors
hope that it will help patients from all over the world. The new treatment works by
blocking a protein which causes cancerous cells to grow. It will improve patients'
quality of life much more quickly than any other treatment.

The sentence which refers to the mechanism that explains how the new drug

works is:
A) The patients have every reason to believe the new drug is going to work.
B) Doctors hope that it will help patients from all over the world.

C) It will improve patients' quality of life much more quickly than any other treatment.
D) The new treatment works by blocking a protein which causes cancerous cells to grow.

8) Scientists have successfully invented a prosthetic hand with a sense of touch.
It is an exciting new invention, which they plan to develop. It is possible that, in
the not-too-distant future, similar prosthetic arms and legs will have taken the
place of today's prosthetic limbs.

What is special about the new prosthetic hand is that

A) itis an exciting new invention.

B) it will take the place of today's prosthetic limbs.

C) it allows the wearer to feel objects.

D) it is possible to be developed.

9) Many cancer patients live far away from Amman, where the KHCC is located,
and the journey to and from the hospital is often difficult. For this reason, there
are plans to extend cancer care facilities to other parts of Jordan. In the near
future, King Abdullah University Hospital in Irbid hopes to set up radiotherapy
machines, so that cancer patients from northern Jordan will not have to go to
Amman for radiotherapy treatment.

One of the disadvantages of the KHCC for patients who live far from Amman is:
A) the journey to and from the hospital is often difficult.

B) cancer patients from northern Jordan will not have to go to Amman.

C) there are plans to extend cancer care facilities to other parts of Jordan.
D) King Abdullah University Hospital in Irbid hopes to set up radiotherapy

machines.




10) Dennis Sorensen, a 39-year-old from Denmark, was the first person to try
out the new invention. He lost his left hand in an accident. With it, Sorensen
could not only pick up objects, but he could also manipulate them. 'When I held
an object, I could feel if it was soft or hard, round or square,’ he explained. He
said that the sensations were almost the same as the ones he felt with his other
hand.

Using the new prosthetic hand, Dennis was able to do many things, for example:
A) He was the first person to try out the new invention.

B) He lost his left hand in an accident.

C) He could pick up and manipulate objects.

D) He was a 39-year-old volunteer from Denmark.

11) Many people have offered to help, but there is little they can do...............
A) practice B) practically
C) practical D) practitioner

12) The modern world witnesses the rapid...............of the software industry.
A) expansion B) expandable
C) expand D) expanded

13) The most common form of is Alzheimer’s disease.
A) scanner B) stroke
C) dementia D) radiotherapy

14) The doctor asked me to describe the ...............of my ailment precisely.
A) implant B) cross
C) coma D) symptoms

15) Medicine companies usually support researches which try to minimize
of many drugs.

B) side effects
D) medical trials

16) 1 like to ..........c....... learning foreign languages.
A) catch time B) spend time
C) attend time D) get time

17) Students should do their best to their teachers’ attention with hard
working.

A) get B) spend

C) attend D) catch




18) You can wear your watch when you go swimming if it's .......c.cuevue.e
A) tiny B) self-confident
C) waterproof D) inspire

19) He had been depressed over a number of business
A) apparatus B) publicise
C) setbacks D) symptoms

20) He took responsibility for everything that happened.
A) person B) personal
C) personalise D) personally

21) The suffix ( -proof) in the word “waterproof : means:
A) to provide production against B) to provide injection against
C) to provide protection against D) to provide action against

22) By tomorrow, I ............ my new project.
A) will has started B) will be starting
C) have been started D) will have started

23)I.......c....... my project by the end of this month.
A) will have finished B) will be finishing
C) have been finishing D) had been finishing

24) The teacher a test to his students next Monday.
A) will /assign B) will /be assigning
C) will /have assigned D) had /been assigning

25) Our teacher the exam by the end of next week.
A) has corrected B) will be corrected
C) will have corrected D) had been correcting

26) By 9 o'clock tomorrow, we ................ our homework.
A) will had finished B) will be finishing
C) will have finished D) had been finishing

27) They the classroom by the end of the hour.
A) had been left B) will be leaving C) were leaving D) will have left




28) I think I my trip tomorrow.
A) has started B) will start
C) was started D) had started

29) In thirty years' time, scientists................a cure for cancer.
A) found B) find

C) will have found D) had found

30) Next month, Ali .............cccs e v e in this company for two years.
A) will work B) will have worked
C) has been working D) will be work

31) Zain .............csssne.... for Farah when her plane arrives.
A) is waiting B) was waiting
C) has been waiting D) will be waiting

32) Zain ..........ccccssuee.o. fOor Farah when her plane arrived.
A) will wait B) was waiting
C) has been waiting D) will be waiting

33) In five years’ time, I university and I'll be able to earn
some money at last.

A) will have finished B) will be finished

C) have been finishing D) had been finishing

34) I can’t call my father right now. He............the plane. It takes off in an hour.
A) was boarding B) would be boarded

C) was boarded D) will be boarding

35) The sentence that has been written correctly is:
A) He will hope to become a teacher one day.

B) He hopes to become a teacher one day.

C) He is hoping to become a teacher one day.

D) He is going to hope to become a teacher one day.




36) Ali intends to finish his project tonight.

The sentence that has a similar meaning to the one above is:
A) Ali is intending to finish his project tonight.

B) Ali is going to intend to finish his project tonight.

C) Ali will intend to finish his project tonight.

D) Ali is planning to finish his project tonight.

37) Will it still ..................... this evening?
A) be raining B) has been raining
C) had been raining D) has rained

38) This time next year, they for their final exams.
A) will prepare B) will had prepared
C) will be preparing D) have prepared

39) We're late! By the time we get to the station, the train
A) will go B) will have gone
C) has gone D) had gone

40) We were late! By the time we got to the station, the train
A) will be going B) will have gone
C) has gone D) had gone

41) Nowadays most of our clothes are made of...................fibres.
A) artifical B) artifitial
C) artificial D) artifecial

42) The sentence that has been written correctly is:
A) He had a tattoo on every visible appendage.
B) He had a tattoo on every visible appandage.
C) He had a tattoo on every visible appendege.
D) He had a tattoo on every visible appindage.

43) Everywhere we go we will hear the constant hum of technology.

The type of the rhetorical device represented in the underlined word in the
above sentence is:

A) simile B) metaphor

C) onomatopoeia D) personification




doctors.
A) make B) attend
C) present D) create

45) Your fridge will know when you need more milk and juice.
The literary device represented in the above sentence is:

A) simile B) personification

C) onomatopoeia D) metaphor

46) Some robots will look and sound very like humans.

The type of the literary device represented in the underlined words in the
above sentence is:

A) simile B) metaphor

C) onomatopoeia D) personification

47) The word that the following phonetic transcription ( /'kaerijiy/ ) represents
is:

A) carrying B) carriage

C) caring D) crying

48) The sentence that has been written correctly is:
A) The boy caught his teacher's attention with his invention.
B) The boy took his teacher's attention with his invention.

C) The boy got his teacher's attention with his invention.
D) The boy caught his teacher's intention with his invention.

49) The sentence that has been written correctly is:

A) To visit Petra has a reputation as a fascinating place.
B) A reputation as a fascinating Petra has place to visit.
C) Petra has a reputation as a fascinating place to visit.

D) Petra has a fascinating place to visit a reputation as.

50) so much / that / will / transport / possible / improved / have / is / public
- The sentence that has the correct order of the words and phrases above is:
A) Itis improved that public transport will have possible so much.

B) It is possible that so much public transport have will improved.

C) Public transport it is possible that will have improved so much.

D) It is possible that public transport will have improved so much.




QUESTION NUMBER TWO
Read the following text carefully, and then in your ANSWER BOOKLET answer
all the questions that follow. Your answers should be based on the text.

Ten-year-old Adeeb al-Balooshi, from Dubai, is going to travel to seven
countries on a tour which has been organised and funded by Sheikh Hamdan
bin Mohammad.

The boy caught Sheikh Hamdan’s attention with his invention - a prosthetic
limb for his father. The Sheikh hopes the tour that he is sponsoring for Adeeb
will give the young inventor more self-confidence and inspire other young
Emirati inventors.

Adeeb got the idea for a special kind of prosthetic leg while he was at the beach
with his family. His father, who wears an artificial leg, could not swim in the
sea as he could not risk getting his leg wet. This inspired Adeeb to invent a
waterproof prosthetic leg.

Adeeb has invented several other devices, including a tiny cleaning robot and a
heart monitor, which is attached to a car seat belt. In the case of an emergency,
rescue services and the driver’s family will be automatically connected with
the driver through this special checking device.

1. Apart from the waterproof prosthetic leg, Adeeb invented several other devices.
Write down two of these devices.

a. a tiny cleaning robot.
b. a heart monitor.

2. Write down the sentence which refers to the purposes that the Crown Prince of
Dubai hopes to achieve by funding Adeeb's tour to seven countries.

The Sheikh hopes the tour that he is sponsoring for Adeeb will give the young
inventor more self-confidence and inspire other young Emirati inventors.

3. What inspired Adeeb to invent a waterproof prosthetic leg for his father?

He got the inspiration when he was at the beach with his family. His father
couldn’t swim because he couldn’t risk getting his prosthetic leg wet.




4. Find a word in the text which means the same as “a body part, such as an arm or a
leg, connected to the main trunk of the body ".

limb

5. People depend more and more on computer technology. Suggest three negative
consequences of depending on technology.

SUGGESTED ANSWER:

1. Technological advances might waste our time.

2. Technological advances reduce face - to - face interaction among people.

3. Technological advances stop people from moving and doing exercise, which
makes them suffer from obesity.

OR ANY RELEVANT ANSWER




QUESTION NUMBER THREE

Read the following text carefully, and then in your ANSWER BOOKLET answer
all the questions that follow. Your answers should be based on the text.

The King Hussein Cancer Center (KHCC) is Jordan’s only comprehensive
cancer treatment centre. The center treats both adult and paediatric patients.
As the population of the country increases, more and more families will rely
on the hospital for cancer treatment. Patients come not only from Jordan but
also from other countries in the region, as they are attracted by its excellent
reputation, lower costs, and cultural and language similarities.

In order to cope with the increase in demand for treatment, the KHCC has
begun an expansion programme.

By then, they will have added 182 extra beds, along with bigger units for
different departments, including radiotherapy. New adult and paediatric
wards will have opened. Additionally, they will have built a special ten-floor
outpatients’ building, with an education centre which will include teaching
rooms and a library.

1. Quote the sentence which indicates that the King Hussein Cancer Center treats
people of all ages.

The center treats both adult and paediatric patients.

2. Cancer patients from other countries in the region rely on the hospital for
treatment for many reasons. Write down two of these reasons.

Any two of the following:

a. They are attracted by its excellent reputation.

b. They are attracted by its lower costs.

c. They are attracted by its cultural and language similarities.

3. Find a word from the text which means "the common opinion that people have
about someone or something".

reputation

4. What does the underlined word "they", in the third paragraph, refer to?

Suggested answer:
people responsible for the expansion programme.




5. In the near future, the King Hussein Cancer Center will have witnessed many
improvements as a result for the expansion process. Write down two of these
improvements.

Any two of the following:

a. The hospital will have more than doubled its capacity by 2016 CE, increasing space
for new cancer cases from 3,500 per year to 9,000.

b. By then, they will have added 182 extra beds, along with bigger units for different
departments, including radiotherapy.

c. New adult and paediatric wards will have opened.

d. Additionally, they will have built a special ten-floor outpatients’ building, with an
education centre which will include teaching rooms and a library.

GOOD LUCK
ZEYAD ADNAN




MODEL ANSWERS

QUESTION NUMBER ONE
1 2 3 4
D D B D

11 12 13 14
B A C D

21 22 23 24
C D A A

31 32 33 34
D B A D

GOOD LUCK
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